CONTACT US

If any problem, feel free to contact us.
Website: www.uctronics.com
Email: support@uctronics.com

UCTRONICS
ASSEMBLY GUIDE

[ (&) (¢ () (%

www.uctronics.com



I

Assembly Steps

M2.5*5 countersunk screw

Package Contents

I

i

| ~
i
Ll i)

i

|

Raspberry Pi and SD card are

not included.

M4 thumbscrew

1. Mount the raspberry pi to the

mounting bracket with M2.5*5 screws.

2. Insert the raspberry pi mounting brackets

into the rack, and fix it with M4 thumbscrews.

o O

O o

panel X1

M6*16 rack screw X 4

M2.5*5 countersunk
screw X 16

Raspberry Pi mounting
bracketx4

J

M4 thumbscrew X 8




